
 

 

 

 

 

 

  

 

 

 

  

 

 

 

   

 

 

  

Pounds Pence Total 

£4 25p £4 and 25p 

£2 40p £2 and 40p 

£20 65p £20 and 65 pence 

 

Key Words 

total  

add 

count on  

partition  

difference 

subtract 

take away 

change 

21p 

Find the difference between the cost 

of a bottle of water and a lollipop. 

The difference between 58p and 

23p is 35p. 

Dora has this money.  

She spends 45p. How much 

does she have left? 25p  

Rosie has £33 in her money 

bank, and gets £40 more.  

Use the bar model to find the 

total. 

£33 

£73 
£33 + £40 = £73 


